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At what stage does self concept begin?

1.

2.
3.
4.

Infancy

Early childhood
Late childhood
Puberty
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Who wrote the book of “Principles of Psychology”.

1.

2.
3.
4.

William James

J.B. Watson
Rousseau

Plato
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The person who experimented on language development

1. Piaget
2. Kohlberg
3. Chamsky
4. Rogers
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Forced forgetting of painful things is known as

1. Oppression

2. Identification
3. Projection
4. Repression
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Which of the following follows the principle of pleasure
1. id

2. ego
3. super ego
4. consciousness
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It needs to be taken up after teaching

1. Assessment for learning

2. Continuous comprehensive evaluation
3. Thinking Assessment

4. Assessment for interest
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Which type of Defence mechanism is Day dreaming

1. Repression
2. Fantasy
3. Compensation

4. Regression
DK Soen E35%0 2 SEE &o(go

1. [aNbINTe)

2. ?;356§®°)5
3. DOTEEE
4. (WAXIS0

According to Right To Education act, teachers can lose their
job after how many years if they don’t get the proper
qualification

1. 1 year

2. 2 years
3. 5 years
4. 7 years
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10.

A boy named Gopi had been sitting in the last row. He came to
the front row when the maths teacher started writing on he
blackboard. What type of vision the boy must have had?

1. Short sight

2. Long sight

3. Blindness

4. Partial blindness
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A student named Lokesh scored good marks in Statistics and
evinced keen interest and passion towards that subject. The
reason could be

1. 1Q factor
2. G-factor
3. S-factor
4. SG factor
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12.

Which is a convenient method of study to find out the attitudes
and interests of teachers on new education subjects

1.

Ll

Survey method

Observational method
Interview method

Experimental method

SrSES Ty B020HS NI P éﬁ"c?agdﬁme) pdoen,
DL BeONESEIS FETLIOSHS 9EFFES DEB

1.

e N

26'503 288

A student named Sathish notices that his neighbor Raju is
working abroad. If Sathish gets inspired by Raju, this
motivation comes under

1.
2.
3

4.

Natural motivation
Artificial motivation
intrinsic motivation

extrinsic motivation
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14.

This memory is present in the children’s byhearting of
Mathematical tables

1. Rote memory

2. Logical memory
3. Active memory
4. Passive memory
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In pre-childhood girls seek father’s love and affection and
mother as enemy or competitor. This phenomenon is called

1. Oediplus complex

2. Electra complex
3. super complex
4. Idia complex
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16.

A teacher sitting in the classroom, is observing the students
who are playing in the playground. This kind of observation is

called
1.
2.

3,
4,

Non participant observation
Controlled observation
Participant observation

Natural observation

€36 ;gooeS‘S SET0Y) T[> SEXS KO S0 5509
EFEYO50E KJ0BEO J HB3S ($o8 208,

1.

Lol

e9:0050¢8 DO
AAHo(BS HB8OS
008 H08es

Dees HOBeS

Annual examination comes under this evaluation

1.
2.
3.
4.

Error diagnostic evaluation
Summary evaluation
Formative evaluation

Continuous evaluation
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Who is the founder of non-directive counselling

1. Allport
2. Carl Rogers

3. Williamson
4, William Jones
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Verbal Tests can be used for

1. [literates
2. Children

3. Literates

4. Adults
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20.

A combination of specific knowledge, skills and responses a
person shows is called

1. Attitude

2. Aptitude

3. Interest

4. Concentration
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95% of the knowledge we have is acquired through these two
sensory organs

1. Skin - nose

2. Ear — nose

3. Eye —nose

4. Eye — ear
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Self- paced learning is possible with this

1.

2.
3.
4.

Activity based Learning

Programmed Learning
Whole classroom teaching

Grouped Learning
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Who created sociocultural theory that gave rise to cognitive
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constructivism

1. Vygotsky

2. Bruner

3. Skinner

4. Kohler
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Bhanumati does not want to take the birthday gift brought by
her father and also does not want to give it to her sister. Which
type of conflict is this

1. Approach-Approach

2. Avoidance-Avoidance
3. Approach-Avoidance
4. Duel-Approach-Avoidance
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The term “projection” was first used by

1. Carl Roger

2. Vygotsky

3. W.G. Allport

4. Sigmund Freud
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26.

The type of useful thinking which helps to discover new things

1. Imaginative thinking
2. Associative thinking
3. Directed thinking

4. Non-directed thinking
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Rubin was the first psychologist who explained the following
Law of perceptual organization

1. Law of proximity

2 Law of similarity

3. Law of closure

4. Figure ground relation ship
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28.

Who created the theory of moral development
1. Piaget

Vygotsky

Willam James

Kohlberg
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A classroom belongs to this type

1. Formal group

2. Non formal group

3. Gang

4. Unorganized group
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30.

The main aim of pedagogy is

1. Completing the syllabus in time
2. Completing all things

3. Providing written knowledge

4. Promoting learning
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An Average intelligent person’s IQ is
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1. 190-110
2. 70-90
3. 150-70
4. 110-130
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61.

62.

63.

64.

You may go if you like to.

The above expression can be used

1. to apologize

2 to grant permission
3. to take permission

4 to refuse permission

Someone says ‘sorry’ for stepping on your foot. How would
you respond?

Choose your response from the following.
1. That’s all right

2 Too bad

3. I do not feel anything

4 It’s all my fault

Choose the option that is a key element of a news report.
1. emotionally charged language

2 sensationalism

3. lengthy anecdotes
4

clarity and conciseness

Choose the option that is NOT a tip for writing a description.

1. use vague language
2 focus on details

3. consider the readers
4 organize language
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67.

68.

Choose the correctly punctuated sentence.

1.
2
3.
4

Radha(A) as well as Kamala(B) have gone(C) to Delhi(D)

“Where are you going Dog?” the wolf asked.
“Where are you going, Dog?” the wolf asked.
“Where are you going Dog the wolf asked?”
Where are you going, Dog? The wolf asked.

Choose the option that has a grammatical error.

1. A

2. B

3. C

4 D

The death of the bullock was  fortunate.
Choose the appropriate prefix to use before the word
‘fortunate’.

1 ill

2 mis

3. un

4 im

The word performance has stress on:

1.

2.
3.
4

the second syllable

the first syllable

the second and third syllables
the third syllable
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70.

71.

72.

73.

Choose the meaning of the idiom “lion’s share”
1. The greatest work

2 major part or portion

3. a lion without fur
4

a lion with a lot of fur

If you want to go out, I will the children for you.
Choose the correct phrase that fits the blank.

1. look up

2 look out
3. look after
4

look into

Choose the correctly spelt word

1. Percussionist
2 Percusionist
3. Parcusionist
4 Percussionst

Choose the option that can be used as a one word substitute for
“a person who can do anything for money”

1. teetotaler
2. theist

3. polyglot
4.

mercenary

The covetous old fellow, with a spade and the old crone, with
a hoe, began to dig.

Choose the synonym of the word ‘covetous’.
1. handsome

2 greedy
3. liberal
4

altruistic



The environment was very ‘pristine’.

Choose the right pair of opposite words of the word “pristine’

1. stale - mint

2 fresh - spoiled

3. impure - untidy

4 defiled - undamaged

Choose the correct sentence from the following.
1. Books are good friends.

2 The books are the good the friends

3. The books are a good friends
4

Books are good the friends.

The accident sadly resulted the death of an old
woman.

Choose the preposition that fits the blank.

1. with

2 over

3. at

4 in

We asked her how it had

Choose the word that completes the meaning of the sentence
grammatically.

1. to been happened
2 happens

3. happening

4 happened
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79.

80.

1.

Choose the sentence that describes some action in future.

1. The great man is going to spend his old age in his
native town.

2. Why are you turning on the radio?
I have already bought it.

4. She is playing tennis now.

David asked his colleague, “Where will you go this summer?”
Choose the reported speech of the sentence above.
1. David told his colleague that he would go that summer.

2. David said to his colleague whether he would go that
summer.

3. David asked his colleague where he would go that
summer.

4. David asked his colleagues if they would go that
summer?

In yesterday’s competition the prizes by the principal.
Choose the option that completes the sentence meaningfully.
1. were given away

2 are giving away

3. have given
4

will be give

There  no milk in the refrigerator.
Choose the verb that fits the blank.

1. have

2. were

3. is

4 are
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Choose the sentence with an adverbial clause from the

following.

1. Come when you like.

2 He confessed that he was guilty.

3. He cried as if he were in deep pain.

4 I know a boy whose father serves in the army

Mrs. Slater rose briskly at length in a business — like tone.

In the above sentence, ‘business — like’ is:

1. a compound noun

2 a compound adjective
3. a compound verb

4 a participle preposition

Choose the word that is not an adjective.

1. greedy
2 honest
3. sensitive
4 bureau

He came from a poor but educated family.

This sentence is an example of:

1. a simple sentence

2 a complex sentence

3. a compound sentence

4 a compound complex sentence
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It’s such an interesting city  we’re going to visit it again.
Choose the linker that fits the blank.

1. that

2 although

3. though

4 in spite of

I’ve always been terribly fond you.

Choose the preposition that fits the blank.

1. with
2. of
3. at

4. by

The film will be released next week.
The above sentence indicates:

1. offer

2. obligation
3. futurity
4,

advice

Read the following passage.

Mahabharata is one of the greatest epics of our literature. It
answers all questions, relating to political social etc if we give
a proper interpretation. It is so popular that it has been
translated into many languages of the world.

One of the main qualities of the Mahabharata epic is :
1. It lacks of popularity in global culture
2. It focuses solely on political matters

3. It has the ability to address various aspects of life,
including political and social issues

4. The availability of its translations are limited



90.

Read the following passage

Mahabharata is one of the greatest epics of our literature. It
answers all questions, relating to political social etc if we give
a proper interpretation. It is so popular that it has been
translated into many languages of the world.

Mahabharata is a of answers to all questions.

Choose the correct option.

1. collection

2 encyclopedia
3. store house

4 compendium
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The smallest Prime number is
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1.

2
3.
4

0
1
2
3

For an integer ‘a’, axl=a=1xa. This is

1.
2.
3.
4.

Inverse property
Identity property
Commutative property

Associative property
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The rational number that doesn’t have a reciprocal
(Multiplicative Inverse)

D0 (85 AS°0) B 955D e

1. 0
2 -1
3. 1
4 2024

Suppose ‘a’ and ‘b’ are positive real numbers. Then
GGE
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1. a-b
2 a’-b
3. a-b’
4 a*—lb

If F = { x: x is a date of February 2024} then n(F) =

F={x:x &30 2024 (30 305°A @8y }eons n(F) =

1. 28
2 29
3. 30
4 31
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Selling price of a toy car is T 540. If the Profit made by
shopkeeper is 20%, then cost price is

25";53&3"63 @3)3&5 0 T540. o3& 3 :55)1)(6 2350
20% 9008 €3 25"’;53&3"63 §°<6°> RIS)

l. T 6438
2 T520
3. T 500
4 T 450

In general, which of the following is collected by shopkeeper
but not given to the government

1. Profit

2. Sales Tax (ST)

3. Value Added Tax (VAT)

4. Goods& Services Tax (GST)
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In which of the following case making a polygon is not
possible

1.
2.
3.
4.

with five matchsticks
with four matchsticks
with three matchsticks

with two matchsticks

4 (308 Q H0E5EY0S” 20HEd Sk Baeo F e

o030,

1.

2.

el ) @f\\‘@g@o
SV eﬂﬁ@g@o
NS @ﬁ\‘@g@g

VO @ﬁ@gw

The sum of exterior angles of a regular polygon

28 (E50 2T Book). ey Sereo J0¥o

1.

hal A

90°

180°
360°
400°



100. A quadrilateral having only equal sides in length
1. Rectangle

2. Square
3. Rhombus
4. Kite

oo PEPO> IR JdITSor SOAS SEIEe0
1L BEssspo
oD
2. WSAOB(00
3. DS B(R0

4. D0

101. The angle between a tangent to a circle and the radius drawn at
the point of contact is

28 $)E 0)5)0pDH, BYNDoY ot ADS Frgrardd eSS

xo 80

1. 30°
2. 45°
3. 60°
4, 90°



102.

103.

Formula to find median for a grouped data

ST 587090 B, HEFHSE0 SR ¥r|Bo

J{—fl_fo xh}
2fi—fo— 1>
n
2o
2 [+]2 ‘ x h
S
3. aJ{Mxh}
2 f
2 fix;
2 f

A bar graph is represented by rectangular bars of

1. uniform widths
2. uniform lengths
3. uniform heights
4. uniform values

2.5 52y Bgr D0 BYSHHI T S
L 2508 3EenS’ soerown

2. NEES FEHS° Soson

3. D588 eyS® &oeraw

4, D58 DenSes® soerron



104.

105.

106.

2024’ is an example for

1.
2.
3.
4,

Multinomial
Trinomial
Binomial

Monomial

2024’ 95038 B8 &orSes

1.

2.

2TVFDE

If x+y+z=0thenx’+y’+z’=

X+y+z=0e008 X’ +y +7'=

1.

2
3.
4

0
1
Xyz

3xyz

To get the imaginary roots of a quadratic equation

ax’ +bx+c=0

;Sg\%flﬁds'ao ax® +bx+c =05 SQ)SESreren FOTCO0ES

1.

2
3.
4

b% = 4ac
b>—4ac=0
b — 4ac >0

b? —4ac <0



107. Formula for total surface area of a Hemisphere

108.

109.

OBAY VOYFYBL JTO0IH Hxe(Eo

1. 21’ sq.units
2. 3mr’ sq.units
2 .
3. 3 T’ sq.units
4. %n 1’ sq.units

The area of a rhombus is 240 cm” and one of the diagonals is
16 cm. Then the other diagonal

2.5 0°02% PF50 240 $.0.00. 508650 o EPswes’
25T FED 16 0.0, WS BOES EFI» FEI

1. 15
2 16
3. 30
4 32

Area of the right angle triangle whose sides are 13cm, 12cm
and Scm.

13 20.20 , 12 20.20 58050 5 0.2 gherenne 59S 002
8% | Bebe STO50

1. 30cm’
2 60cm’
3. 75¢m’
4 78cm’



110. The probability for drawing out a red king from a deck of
cards

28 DES0E O 5§ D0& ) S0k Trersd ko NI

1. —

13
. L
26
;. 2
13
4. 2
26

111. Distance between points (—4,0) and (6,0)
(-4,0) (6,0) DoHH© ;53&55 S50

l. 2
2 4
3. 6
4 10



112. The area of a triangle formed by the points A (5,2) B (4,7)

C(7,-4)

1. 1 Square unit
2. 2 Square units
3. 4 Square units
4. 16 Square units

HotoHew A (5,2) B (4,7) C(7,-4)eo %q’;@om WS
&2z 3T eg0

1. 1 S5E55) 0HTAES
2. 2 S8 Sorde
3. 4 SEBH SHPAE)

4 16 S5 S

113. If A, B and C are interior angles of a triangle ABC, then
B+C

Sin

A, B 5850 C o (@200 ABC §°0 @088 §ergd

Sin B+C
. sn2
2
2 CosBjLC
2
3 Cos —
4 sin 2-¢



114. If 3 tan A =4, then Cos A
3tan A = 4 @003 Cos A

3
5
2. 4
5
;. 4
3
4. 2
4

115. When there was no mathematical or scientific material
available, this Indian scientist managed to measure the time
taken for the Earth’s rotation as 23 hours 56 mints and 4.1
seconds

1. Bhaskaracharya

2. Aryabhatta

3. Brahma Guptha

4. S. Ramanujan

K3ST|R D050 ©0erend” B es5700d’S srgSerds
$& S0 23 Kowre 56 DI 4.1 DERM KB0DS eSS0
Ke%éra”@?fﬁeg

1. 2;7"262,_6"73"65
2. eﬁdageﬁée%
3. (@370

4. S. oSS



116.

117.

In proving a theorem, a student moved from the given data to

conclusion by applying known concepts, formulae in a
sequential way. His approach is

1.
2.
3

4.

Inductive
Deductive
Analytical
Synthetic

DTS AETHerS” wE ITY $S0F0 $H08& FT0IOSH
KS0S" BODS S, W@ esH FFIE0S
0S5O0 ATT°VOWED. 9BI &HR0

1.

2.

3.

4.

e33R0

QRS

DF2E
(qp]

DOBAE?
(qp]

The source word for Heuristic method is “Heurisko”

(which means I found). This is a

1.
2.
3.
4,

German word
Latin word
Greek word

Arabic word

ST DED BE JogORE DEBE SarergrIRS “Sogdd,”
(957 IB> EDHATND) &IB 28

1.

2.

w

wé&g D0
RS B0
A% Heso

95D Heso



118.

119.

When we move from top to bottom in Edgar Dale’s cone of

experience, Direct experience will

1.
2.

W

4.

Increase
Decrease
No change

Constantly decrease

AEES ©8es FoHIS P H00d (05D IHTE (HegY

(ONVIANTe)

1. DEK808

2. 95?1/3\9500&

3. D SrL) O
4.

VTO® 85385008
@ N

According to Marry Potter & Virgil Mallory the Intelligent
Quotient of ‘Slow learners’ in Mathematics is

b e Do S Werdo (¥5E0 Ke3S0S”
D0E werRNHY’ (Dered)

1.

2
3.
4

>140
120 - 140
90 —120

<90



120.

The Evaluation for estimating the field in which the student
will flourish in future is

1.
2.
3.
4.

Summative Evaluation
Formative Evaluation
Prognostic Evaluation

Diagnostic Evaluation

Y wAES” VoK0S” wond vHESosor ASKNOE”
QOS> I T Saergo8S0

1.

2.

éo§e>s°e§&§ ;535°®">§o§:60
3@&8?95 &g $5JJ°Q)'°§O§?50
(FHO8E Soorergosso

eS’SZoi)cgcfea SoTeg0ER0



121.

122.

While measuring the length of a knitting needle, the reading of
the scale at one end is 3.0 cm and at the other end is 33.1 cm
then the length of needle is

1. 30.1m
2. 33.1cm
3. 30.1 cm
4. 3m

28 998 10 FEIPSL FTOVLIPED W)y oo B0 2.8 IS0
8E&0A 3.0 20.2., 8% 958 8&0K 33.1 0.2, evsonsS
8 FED

1. 30.1 .

2. 33.10.2.
3. 30.1 20..
4. 3.

The correct increasing order of types of frictional forces
1 Rolling, Sliding, Static
2 Rolling, Static, Sliding
3. Static, Sliding, Rolling
4 Static, Rolling, Sliding
2Ted 20 TIPS e8°es (E50
1. ST, 2D, DY
3] @
2 ST, VBT, 2D
9p] &
3. VD, 28, "B
& ™
4 VAE, FTE, e
@ ™



123.

An object of mass 12 kg is at a certain height above the ground and
the potential energy of the object is 480 J. Then the height at which
the object is with respect to the ground (Given g = 10ms )

1.
2.
3.
4.

12 m
12 cm
4 cm

4m

12 37, ($550°8 Ko S99 4 P 506 §od 3RS’ sod.
e S0P By, RS ¥8 480 J eond ey $008 & SN
BooBy. B (g=10 1>

1.

2
3.
4

12 .
12 20.20.
4 2o.2.
4 .



124.

The correct match of groups (X) and (Y)

Group (X) Group (Y)
1. temperature a. %(g K
ii. heat b.J
iil. latent heat c. K
iv. specific heat d. J Ke

(X) 8650 (Y) (o $0G30:S 265

oS (X) R (Y)
: J
i &S a, %(g'K
i, éguo b.J
iii. Ko c.K
—o£
. — J
iv. 3%%%3533 d. Ko

1 i—a,ii—b,iii—c,iv—d
2 i—c,ii—b,iii—d,iv—a
3. i—b,ii—a,iii—d,iv—c
4

i—c,ii—d,iii—b,iv—a



125.

126.

A charge is moved from a point M to a point N. The work
done to move unit charge during this process is called

1. Potential at M

2. Potential at N

3. Potential difference between M and N
4. Electric current from M to N

28 eﬁ?fs%”ig)) M Do) 5508 N DotHHE 580, Ss o
(BS7er BT FEV)EAS VIS HIJ g ©0Lr,

1. M 5& PEJ30S
Q o\
N 358 PBI60S
Q o\
M 58650 N © 5065 ;’ragoﬁoef 55¢s50

L

M 308 N % (352703 deogS

One of the following cannot be charged easily by friction
1. A plastic scale

2. A copper rod

3. An inflated balloon

4. A woolen cloth

808 >8S° e oo SO &3BS0 FAHBIA.

1. FHE 'fobe)o
(qp[)
2. oA sd
o
3. 305 B

4. &) SR



127.

128.

129.

The percentage of Acetic Acid mixed in water to use it as a
preservative like Vinegar

BETOD @@53_5(0 3K TR0 DASE &
RIS ey TS0

1
2.
3.
4

5-8%
10 - 15%
15 -20%
100%

The formula unit mass of CaCl,
CaCl,B2E), i)”dv&eﬁ 0‘535"3)53_@5;556"%

1
2.
3.
4

585u
16 u
23 u
111 u

The incorrect statement among the following about the trends
in periodic properties when going from left to right across the
periods of the periodic table

1.
2.
3.
4.

The metallic nature of elements decreases
The number of valence electrons increases
The atoms lose their electrons more easily

The acidic nature of oxides increases

800 &S, 3PS HQES® HOANE CHOM IE Hod HES
IPHOIPE, BIYS $ome HBHS” V0TS

1.

Ll

Sresee e ReTS0 SKEH00

I0) Q(TH0® V0P DEKIS0E

DEITEN PO VOO S5 JOTROOD §6e3i)e5°ooo
BE)EQ) 53850 DEIHE0E



130.

The correct matches of column — I and column — 11

Column -1 Column - II
i. Produce ringing sound a. Conductivity
ii. Can be drawn into wires b. Ductility
iii. Can be beaten into sheets c. Sonority
iv. Transfer heat from one d. Malleability

point to another point
550 1 1 o8°) @0 HGES sden

S0 - 1 S8 - II
i A &) Bosoow a. TOIES
ii. &Xeor FROE b. GroSes
ii. Benne Boswed c. &R €30

iv. éigg{)}) 2.8 Do Hod
50878 DoHPH Prso Bawes  d. ¥edAes

i—-b,ii—c,iii—a,iv—d
i—c,ii—b,iii—d,iv—a

i—-d,ii—c,iii—b,iv—a

el

i—c,ii—d,iii—b,iv—a



131.

This is an almost pure form of Carbon

1.

2.
3.
4

Coke
Coal tar
Petrol

Natural gas

S BY), T RGBS 890

1.

> » b

5§

§%S oot
2SS

VT°e8 IOV



132.

The correct matches of groups I and II

Group (I) Group (II)
1. Plaster of Paris a. CaOCl,
ii. Gypsum b. NaHCO,
iii. Bleaching powder C. CaSO4%HZO
iv. Baking soda d. CaSO,2H,0

S 1 1 o8°) @0 98FE0S sen

S (1) UoeS (1)
i P8 e IR a. CaOCl,
1. 289)0 b. NaHCO,
ii. YDoK b c. CaSQ%HZO
iv. 280K e d. CaSO,2H,0

i—c,ii—d,iii—a,iv—b
i—a,ii—c,1i—b,iv—d

i—-d,ii—c,ili—a,iv—>b

b=

i—c,ii—b,iii—a,iv—d



133.  Correct match among the following

Group A Group B
1) Jelly fish a) Pseudo coelom
i1) Ascaris b) Gastro vascular cavity
ii1) Star fish c) Closed type of circulatory
system
iv) Snail d) Open type of circulatory
system

808 TBE° D8 w8 VaHLESD

V3PTeo A V3o B
i) 893 a) WrgEds Do
i) QOIS0 b) =88 (P38 BI°C0
1i1) DI0(E SE(Eo €) VOGS 5F (DT Ig5
iv) 3¢5 d) DSy T (HRSe IS

1 i-b, ii-a, iii-d, iv-c
2 i-a, 1i-b, iii-d, iv-c
3. i-a, 1i-b, iii-c, iv-d
4

i-b, ii-a, iii-c, iv-d



134. Forests are called green lungs of the earth. This is because

135.

1.

They have green coloured pigment that helps in
respiration.

They prepare food for all organisms on earth.

They perform transpiration and release water vapour
into air.

They maintain the balance of oxygen and carbon
dioxide in the atmosphere.

VEJOD Zr BooY), BHDW) EEOBELL ©0ETW.
0LHEOES

1.

L

3 TV EIRPKIE DI SYSR) FOA &IRyom.
3D FrWP &) é@@%}o& S B0 SATHBL.
30 )BT @0, I3 B IS'E e BFow.

TE55e08" edjEs 200 YN § e)ke
DDBOIBED SFES 0.

The theory of “Inheritance of acquired characters” was
proposed by

1.
2.
3.
4.

Charles Darwin
Alfred Russel Wallace
Jean Baptist Lamarck

August Weismann

“e38¢8 KeT°0 930350858 ?QCPO@ED& EuilaleTAR AN
3 (o]

1.

Lol

TBS @O
sS@RE 56 TBD
A ey oS,
eKQPD ARITS



136. A gram plant have

137.

1.
2.
3.
4.

fibrous roots and parallel venation
tap root and reticulate venation
fibrous roots and reticulate venation

taproot and parallel venation

2.8 #SK B8 B SOR &odod.

1.

L

o208 3ty $HB050 VIToSY I TFDS0
&9 I 8350 eSS BeI© T§DS0
K520 36(% SO0 S HIFO FFHI0
S I 00N HIF0ES HeI© TFHS0

Assertion (A): Protein rich diet will result in higher levels of

urea in the urine.

Reason (R):  Proteins get deaminated in the liver.

Choose the correct answer.

1.
2.
3.
4.

A correct; R incorrect.
A incorrect; R correct
A and R both correct; R is the correct explanation for A.

A and R both correct; R is not the correct explanation for A.

(DEOS (A): 0B SrodE)ERL &Y) e S0

S(EB0S° O W) S ABES08.

5580 (R): (FOSen 5580508° SepIaSH K8 aram.

VDS VS H80B0é.

1.

L

ASBSE; ROTSS s

ABBIE 50655 RBIA.

A 558050 R Bo&r $BS5I; R e&IB A % $BS ASSes.
A%>8050 RBo&> 9353 R 938 A % 938 dS8er 5°¢.



138. This is NOT a green-house gas
1. Sulphur dioxide
2. Methane
3. Nitrous oxide
4. Water vapour
50068 KQ)ZF’ JPANY) 508

L %03 «B)E
2B
S8 eHE

L

563e328

139. Incorrect match among the following
1. simple squamous epithelium — kidney tubules
2 stratified squamous epithelium - skin
3. cuboidal epithelium —ducts of salivary glands
4 columnar epithelium — inner lining of intestine
53 (308 F3S° ¥BS @8 528

1 QY Fo).© &GIEY® EeazsP00 - RGP Ee
W0 ) © @5 5eaew0 - FEY0

WIS GIEP® EHEO0 - TrerEe (K00 JPwPen

Lol

ROLPEY &PEP 5830 - 2% §%98 >



140. The nerve that controls the movement of muscles in the jaw

1. 5" cranial nerve
2. 10" cranial nerve
3. 2" cranial nerve
4. 8" cranial nerve

S5 Soore 555 daho|@oB &
1. 55 EFro oG
105 5o &
235 80 o6

e N

83 5o &

141. Incorrect statement regarding flying birds

1. The bones of their hind limbs are typical for walking

and perching.

2. Their bones are solid and strong.
Their breast bones are modified to hold muscles of
flight.

4. Their bony parts of the forelimbs are modified as
wings.

JKSKOR DO K80 BB 550

L 8 IDE g Isnsen SESES, FSep
Qo2EEEI8 9SOETON GO,

2. 563 dSnEen E)EOT, 2OON® OO,

3. ARSI EIRFKIG E0ETe0SH 98 &oiTS
0PN D AJ0E ;Sréoojao& &0EIP0.

4. 0088 s%{) RINSOISIFA LT ARl 6§zye>ozv° ;Srdao)Boa
&OEIP0N.



142. The high yielding variety of honey bees used in commercial
honey production

1. Apis cerana indica

2. Apis dorsata

3. Apis florae

4. Apis mellifera

TREHORS BI GB)BS° 0QS Bbad 0 EGH@PACD

83K 550

1. VD DTT® oSS
2 D &Y

3 DD iﬁ(j}@oﬁs"

4 DD 3Jm°qbc°

143. Polio drops (vaccine) contain

1. antibodies against polio virus
2. antibiotics against polio virus
3. dead or weakened polio virus
4. drugs against polio virus

POBr H¥) en (57) SOR Goid

1L POB>r JERE Foh (PO TESw

FOT> JERE” Pl KRS S ¥se0
SAPaNS BT 2OTIST2ES FOT 8B

L

FOBT JBIS® Fords SHoen



144. The element required by plants to synthesis proteins
1. Potassium
2 Magnesium
3. Nitrogen
4 Phosphorus

I0E) 00 STOVEYHOD ST BESEIS
IOVS re¥o

1. PEINAI0
Bof}b)iqoﬁao
:6@3&23)

WD

2.)%0360



145.

146.

This constitutes a set of facts.

1.
2.
3.
4.

Theory
Hypothesis
Law

Concept

30 25 AHErTre o) JBYDH8.

1.
2.
3.
4.

D050
[on]

‘538§e>°)€6

BOVSINDINGY
AN

The curriculum approach / method in which a firm command
on a subject is formed and the students feel satisfied that they
have learned the whole subject

1.
2.
3.
4.

Concentric Approach
Topical Approach
Psychological method

Logical order method

2.8 JRODOP FYEHS D50 G, oY PO IATY
SENTTYY) Sy SOR FEgDeTdE orso / DS

1.

e N

EZo(SE S0
%@5 AGCS0
052 E DS
Q— X Q
TS (ESDES



147.  As per the recommendations of All India Science Teachers
Association, the area required for each student in every

laboratory is

1. 100 sq. ft
2. 15 sq. ft
3. 60 sq. ft
4. 30 sq. ft

0o 2B JTITIR 6—,;2)"@5053 RON0 T8 V)Y TS,
(58 PErKred” o8 IR GoESORS Yoo

1. 100 <3.e9
2 15 <S.e9
3. 60 3.¢
4 30 %.e



148. The words ‘genus’ and ‘species’ were first used by
1. Carolus Linnaeus
2. Aristotle
3. Empledocles
4. Socrates
“B55” 50805 VAR & STo Inser EHBErAoDS S§

1. £8%0% @3&0&35

2. @6@3&36’5—
3. Qo?%c&?sg%
4.  FEES

149. The fifth step in the Herbert’s period plan
1. Presentation
2. Association
3. Generalization
4. Application
oG 200HE HEF0ST) 0i5S FIS0
L 23D ¥dsse0

NSV oSS

FTEAESe0

~ow N

@5030530



150. This is not a key aspect of the Andhra Pradesh State
Curriculum Frame Work — 2011(APSCF - 2011)

1.

The abilities of the children should always be kept in
mind in relation to learning.

Relating knowledge to life outside school.

Giving priority to assessment of learned content rather
than assessment of learning process.

Integrating the exams into classroom life to make it
more consistent.

SO\FHBT oy, FEPerds° SEwo - 2011 (APSCF —2011)
Boo%). dof Br@o A8

1.

PFHIKD D020H0D 1YL FE FTIOD
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